AN EEIS
_‘

=
X XH: SHXE
S /|-

HE LA A (AE1S)

col: olzi2gy| (el @R
SA-E . S(E) - MEAY - BES 01l &4 24 pJE-T HIRE

2E1S 255,257 252,757 2,500
HE2AHH(AB1S) 85,452 82,952 2,500
I8 24 58,746 56,246 2,500
o1 21H| 49,208 46,708 2,500
101 el 24l 49,208 46,708 2,500
01 = 28,675 26,175 2,500
Ox=l2f=H 2,500 0 2,500
—B== 2,500,000& 2,500 0 2,500
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SN

B #FLAAY(AE0S)

col: olzi2gy| (el @R
SA-E . S(E) - MEAY - BES 01l &4 24 pJE-T SImE=ET

2E2S 226,369 224,869 1,500
HY2AHH(AEB2S) 84,188 82,688 1,500
I8 24 57,482 55,982 1,500
o1 21H| 47,944 46,444 1,500
101 el 24l 47,944 46,444 1,500
01 = 27,648 26,148 1,500
Ox=l2f=H 27,648 26,148 1,500
—B== 1,500,000& 1,500 0 1,500
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SN DAES

HH: #H2AAH(n2E2S)

cHel: ol 2o He
CEH . HR(EH) - HRAY - B z

n 272,467 270,242 2,225
o H(DZ=2s) 91,566 89,341 2,225
] 62,694 60,469 2,225
51,883 49,658 2,225
ellal=] 51,883 49,658 2,225
2= 31,890 29,665 2,225
Ox=l2f=H 2,225 0 2,225
—B== 2,225,000& 2,225 0 2,225
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nEIRE
HH2HFH(DBIS)

ol 2| e
SA-EFH - SA(SAH) - MREAY - BES &hoh =
DA1S 193,693 189,693 4,000
HH2 YA (DBI1S) 62, 174 58, 174 4,000

oz 2 e 37,634 33,634 4,000
o124l 28, 134 24, 134 4,000

101 2124yl 28, 134 24, 134 4,000
01 2% 28, 134 24, 134 4,000
OZB224Y 4,000 0 4,000
—exe 4,000,0002! 4,000 0 4,000
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M 2FS
M WE2AZHI(QEE)

crol: olet2 gyl ]
SA - BE - BA(EA) - NRAY - BES o1 o 2

ES 206,391 202,391 4,000

HY2HHH(LES) 61,408 57,408 4,000

ol 2| 37,430 33,430 4,000

ol 24| 27,930 23,930 4,000

101 elH| 27,930 23,930 4,000

01 2 27,930 23,930 4,000

Oxzu=2f=¢ 4,000 0 4,000

—8B== 4,000,000& 4,000 0 4,000
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SN MES
HE: #H2YAY (UES)

ool ol 2| Hel
SN EB -GS - MBAY - BES %
NES 221,962 219,962 2,000
HHeAAY (MES) 80,688 78,683 2,000

22| 56,448 54,448 2,000
o121 b 47,136 45,136 2,000

o121 4] 47,136 45,136 2,000
24 26,682 24,682 2,000
OxV224+Y 2,000 0 2,000

—exe 2,000,002 2,000 0 2,000
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